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1.
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5,
Q.1
1)
(2)

3)

(4)

®)
(6)

(7)

(8)
(9)

(10

(11

Attempt all questions.
Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of simple calculator is permissible(scientific/Higher version not allowed)

English version is authentic.

Fill in the blanks using appropriate choice from the given options: 14

Value of |4 1 s
(a) 0 (b) 1 c© -1 (d) 2
If log,32=5thena= .
(a) 2 (b) 0 () 1 (d) -2
log, b
a .
(a) 0 (b) a ¢ b (d) 1
{1 0} T
IfA= then A" =
0 1
1 0 b 00 1 0 d 0 1
(a) 0 1 ()00(0)10() { o
The value of the logg 3 _1| =
loge2 1
@ 0 (b) -1 (© 1 (d) 2
{2 1} { 3 —1}
IfA= and B = then AB =
53 -5 2 -
0 0 b 1 0 1 0 q 0 1
(a) 0 1 ()01(6)10() { o
5 Jrm
If =2 thenx =
-2 2
(@ 2 (b) -1 © -2 (d -3
The period of 3cos2x is .
(a) 0 (b) V4 ) 27 (d) 3rx
If cosO + sin® = 2 then sin20 = .
(a) 1 (b) 2 () 3 (d) 4
135° = radian.
V4 kY4 St Y4
(a) 1 (b) e (© e (d) o
(3)re(3)-
tan | — | +tan | — | =
4 3
@ 7 o T e @ 0

The area of a circle made from 4 7 cm. long wire is
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Q.2

Q.3

(12

(13

(14

(@)

(b)

(@)

(b)

(@) =« (b) 4z © 27 (@ 3z

Volume of a cone whose radius is 4 m. and height is 12m.is
3

m.
(a) 192 7 (b) 487 (¢ 647 (d) 74 7
Surface area of a cube of Scm. length is e’
(a) 25 (b) 125 () 100 (d) 150
Attempt any Two: 06

(1) Solve: log, (x+5) + log,(x—2)=3.

(2) Find the diameter of a sphere, if the total surface area of a closed
Hemi-Sphere is 462 m”.( 7z=%)

(3) Diameter of a circular common plot of a college is 42 m. To raise

the height of surface up to 10 cm, how many m? clay is required?

_2
(;;_7)

Attempt any Two: 08
() If log(ibj _ 1 (loga+logh),then prove that a,b_ 7.
3 2 b a
(2) Solve: 4log3xlogx _ log27.
log9

(3) How many spherical balls of radius one cm can be made from cube
of length 22 cm? ( 7r=27—2)

Attempt any Two: 06
a b b

(1) prove thatif b a b| =0 then a=bor a=-2b
b b a

1 3
2Q)IfA= {2 J then prove that A2-712X2 =0.

3 -1 2
(3) Find the inverse matrix |4 1 -1
5 0 1
Attempt any Two: 08

(1) Solve: 2x - y =4 and 3x + y = 1,Using matrix method.

cosa Ssina
Q) IfAg= ] then Show that Ag A p=Aa+f
—sina cosa
1 0
(3)IfA={1 2 1} andB=[0 1 | then find AB and BA
2 21 1 -1
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Q.4

Q.5

(@)

(b)

(@)

(b)

Attempt any Two:
c0s12% +sin12°

cos12° —sin12°
sin(180 —#).cos(270 — &).cosec(90+6)
sec(270+ 8).cot(90 + 0).tan(360 — )

(1) Prove that tan57° =

(2) Simplify:

(3) Show that tan™ (o0) + sin’! (?] +cos”! [%j = 7?”

Attempt any Two:
(1) Draw the graph of y = sinx, where 0<x<2rx

(2) Iftan@ = % ,0<0< % then find the value of 2Sin2 @ + 3cos26.

(3) Prove that Sin4 0= 4Sinfcos’ 0 - 4Sin’ O cos O

Attempt any Two:

(1)If a= (3, -1, -4), b=(-2,4,-3)and c=(-1,2,-5) then find the
modulus of a+2b-c.

(2) Find the unit vector perpendicular to the plan of vector

a=(1,2,3)and b=(-2,1, -2).

(3) For what value of x ,the vectors 2i+3j —k and xi —j + 3k are
perpendicular to each other.?

Attempt any Two:

(1) A particle is displaced from the point ( 0, 1,-2 ) to the point
(-1,3, 2) under the action of applied forces (1,2,3),(-1,2,3)
and (-1 ,2,-3) then find the work done.

2)Ifa=(-4,9,6),b=(0,7,10) and c=(-1,6 ,6) then show
that (a-c).(b-c)=0.

(3) Prove that the Angle between two vectors i +2j andi+j +3k is

.1 [46
sin” , |[— .
55

*hkkkkkkkkkikkik
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Q.1

1)

(2)
3)

(4)

()

(6)

(7)

(8)

(9)

(10

(11

(12

(13

202 [Ascu urie 531 wicllesoaul Y2 14
log, L ol Bud

@ 0 (b) 1 (© -1 (d) 2
% log,32=5 Al a =

(a) 2 (b) 0 () 1 (d) -2
log, b _

@ 0 ® a () b (@ 1

1 0 00 1 0 0 1
o [ oY el [
-1

Rauas | 56 ‘ o Y = B
loge 1
@@ 0 b - © 1 (@ 2
°aA=[ 1} Ul B:F _1} dl AB=
3 -5 2
00 - [10 to] [0
@ ol ® 0y O ol @
A | ;‘:z A x -
(a) 2 ® -1 @© -2 (@ 3
3c0s2x  BlclcAHlsl 8. .
(a) 0 (b) T ¢ 2z (@ 3z

A cosd+sin® =2 Al sin20 = .
(a) 1 (b) 2 () 3 (d) 4

135° = radian.
T 3z Sr hY4

(a) 1 (b) v () e (d) o

(3)re(3)-
tan | — | +tan | — | =

4 3

@ 2 ® T e @ 0
47 A diot vollau Higll olotcl adet of Aasn =

(a) s (b 4rx © 2z () 3z
4l Bl wal 12 {l GUS YRl 2l of Uolsn tol
i)

(a 1927 (b)) 487  (¢) 64z (d) T4z
5 Al oy ol AMdot ol AUl of Ywsa AR™U
L.

(a) 25 (b) 125  (¢) 100 (d) 150
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(14
)
Q2 (@ oA aa awl: 06

(1) B3 : log,(x+5) + log,(x—2)=3.
(2) Ws ol Udolds ol AWl of Ywsn 462 ARYU AU, A
oleAts oll caltd 2. ( 7r=%)

(3) 5l Ul dduusik slHat LAle ol calld 42 Hl B, Boll
AUl uR 10 AL W8l waRal 1 ¥ecl dotHle: Hidl

(b) o A a ol 08
(1) %8l log(aTerj = %(logawtlogb),(‘n Alolld A ¥ %+§ =17.

(2) Gy : Hlogdxlogx 0 o7
log9

(3) 22 AL, dottes oll AHuot Hil As AL O o1l Fest olu
HA? ( 7r=%)

Q3 (3 s AQ oWl 06
a b b
b a b
b b a

(1) 2 =0l tlcllell 5 a=b AAA a=-2b

3

(2) %L A=E J alal Al Aol 5 ¥ A%7L0 = 0.

3 -1 2
3) {4 1 1] ol cld AQs Al
5.0 1

] oA A A dwll: .
® 1) 285 o 93 whsed o1 G3ct Al

2x-y=43ual 3x+y=1.

cosa sina

(2)°a-Aa={ }'Tl Ul 35 Ag Ag=Aa+p

—sina  cosa
0
1| 8& dl ABual BA

|
3) % A{l 2 1} AN B= [0
2 21 |

-1
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Q.4

Q5

(@)

(b)

(@)

(b)

el
ol A A awl.:

c0s12° +sin12°

cos12% —sin12°
sin(180 —#).cos(270 — 8).cosec(90 + )
sec(270+ 8).cot(90 + ). tan(360 — 6)

(1) Wolld 5 tan57° =

(2) :RAUE3U WM

(3) Al % tan'l(oo) + sin'l(ﬁ}r cos'l(lJ _ Iz
2 2 6

o ad A awl.:

(1) y=sinx oll AUAW ERL >l , 0<x<27

2) %\ tan @ = %,os Hs% Al 2Sin260 +3c0s26 oll B AL

3) Aol A ¥ Sind #=4SinOcos’ @ - 4Sin’Gcos O

ol A d awl.:

(1) B a=(3,-1, -4), b=(-2,4,-3) W\ c=(-1,2,-5) &l l .
Ual a+2b-c of Hlel AN

@) AR a=(1,2,3) WA b=(-2,1,-2) o clol AsH Ut
el

(3) x ol 58 (Ut M2 AR 2i+3j -k Ml xi—j + 3k URUR
dol olal?

o A a ol

(1) As UeLE U 20l (ol (1,2,3),(-1,2,3) A (-1 ,2,-3)
dousdl A ueld g (o,1,-2) ol g (-1, 3,2) U
UAAR 52 O ,cdll A UELE UR uUd sl U

2). A AW a=(-4,9,6),b=(0,7,10) A c=(-1,6 ,6)
8l Al ddldl ¥ (a-c).(b-c)=0.

(3) AURA i+2) AN i+j+3k A Al YA Sin—l\/g sl
AN AGA $A
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